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Aufgaben-Quickname: 6920

Aufgabe 1

Setze <, > oder = ein.

1 _2 9 10
®) 5<9> 42 45<13

2 26 18 26
d) 3<357,da 57 <57

11 3 22 39
8) 95<7 da 55<%3
) 1 35 2
) 13> dagr>gg

Aufgabe 2

Setze <, > oder = ein.

) 2 4 d 2 2
a) 77=g7, da 77=17
3125 3125
d) @>@, da @>@
19 18 19 18
8) 57>797, da 57>57

~ 10 11 10 11
J) 19<719> da 19<7g

Aufgabe 3

Setze <, > oder = ein.

Aufgabe 4

Setze <, > oder = ein.

5 10 55 60
a) <17 da 55 <gg
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Quick:
6920
15 11 15 22 191 19 4
b) 38<19> da 38 <38 ¢) 28> 7> da 98> 98
11 11 22 33 1 15 29 45
e) 77<1_8’ da m<m f) g<2—9, da g7<g7
5 17 15 17 N 17 2 51 10
h) =<37» da 91 <91 i) 35 >15; da 7E>TE
Quick:
6920
1 34 1 34 8 22 8 22
b) m< 0 da m<m C) 3—<%, da %<%
7 11 7 11 17 19 17 19
e) 26 <96 da 26 <96 f) 77 <57, da a7 <357
11 9 119 4 9 4 9 4
h) 35735 da 3575 i) 2999 da 2099
Quick:
6920
1 4 5 12 1 5 1 1
b) <15, da 5<45 ¢) =30, da =7
2_28 2_2 1_7 3 _T1
¢) =73, da 3=3 f) 1<13, da 153<13
2 .7 6 7 N 1.3 11 6
h) 3<g, da g<g 1) 7>H’ da ﬁ>ﬁ
Quick:
6920
8.2 , 242 3 21 , 3.3
b) 7>33, da 33>33 ¢) 7753, da 1=7
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172 17 8 15 11 45 44 3 27 21 27
d) m>3, da m>2—0 e) %>ﬁ, da @I>§I f) Z[<2_8’ da 2—8<%
1 9 1 18 1 13 3 13 N 2 2 10 26
g) —2<ﬁ, da ﬁ<ﬁ h) 7<ﬁ, da ﬁ<ﬁ 1) 1—3<5, da %<%

Viel Erfolg!
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